/ 9.4: ANNUITIES, 5TOC K'\A\D BONDS (
Objectives

. Determine the value of an annuity. ; :
2. Determine regular annuity payments needed to achieve a financial goal. g/ 1o
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3. Understand stocks and bonds as investments. O S
4. Read stock tables. [,74‘“ Lt
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mAnnuities: An annuity is a sequence of equal payments made at equal time periods
The value of an annuity 1s the sum of all #/ W g«i\_s,__ plus all _/_/ﬂggjj;__‘ paid.
HMAnnuity Interest Compounded Once a Year
If P is the deposit made at the end of each year for an annuity that pays an annual interest rate r (in decimal
form) compounded once a year, the value, 4, of the annuity after t years is
Pl(1+r) -1]
A=——n-— =,
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Example 1: To save for retirement, you decide to deposit $1000 into an IRA at the end of
each year(for the next 30 years? If you can count on an interest rate of 10% per year
& Tompounded annually, p = | =l > Whet i goue start earlier ank
a. How much will you have from the IRA after 30 years? iqvest Sor 40 years
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b. Find the interest. fos o / 7— ,1-#‘]rﬂ_<'—)* .
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16444202 — 30(1600)

= 164, 442.02 — 30000

= 14033 592.5L
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mAnnuity Interest Compounded V Times Per Year

-rest rate r
4vs an annual interest
If 715 the deposit made at the end of each compounding period for an annuity that pays an &

afler L years IS
(n decimal form) compounded n times per year, the value, 4, of the annuity after tyea x
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Example 3({ At age 2 5/10 save for retirement, you decide to deposit 5. $200 into an IRA at the Lfn%()!/gdg(._l}ﬂ}f)»glfl\_

at an interest rate of 7.5% per year compounded monthly, = . ) E 7()
P’ < » S —aqe 25
a. How much will you have from the IRA when you rx.lu(‘lt a&c ()S) 10 lJe ars e &S Aj

09 1240 )
/ f’v ' o
B J LI == o IJ 4

4 5 = 604764

b. Find the interest. i 4 Oq 5 L}( L{j —_ /6’0‘// z) (‘/0)
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The interest is morethan > times the amount of your contributions to the IRA.
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®Planning for the Future with an Annuity | l/ow ,,41_,1(& Ls Eadeed

’, the deposit that must be made at the end of each compounding period into an annuity that pays an annual
‘ interest rate r (in decimal form) compounded » times per year in order to achieve a value of A dollars after t

years is
A(’]
n,
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Example 4: You would like t have $20, ()00)0 use as a dm\ n payment for a home in five years by making
regular, end-of-the-month deposits in an annuity that pays 8% compounded monlhly
a. How l’nLth should you deposit each month? r=,09 n=l2

FLP
20,000 ( L2 _
. //{ﬂyz-s_) i{ 292119 :

b. How much of the $20,000 down payment comes frol from dcposxls and how muuh h comes lrom mlercsl’

272191 2)(s ) = 1633] 20,000 - ((,33).40
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*  When depositing money into a bank account, you are making an _i1v¢ SImeat

*  The account’s interest rate guarantees a certain percent increase in your investment, called its /-

*  Other kind of investments that are r13£ jer  are called stocks and bonds.

« Investors purchase stock, shares of _Ovouer < L A inacompany.

(s SMS For example, if a company has issued a total of 1 million shares and an investor
owns 20,000 of these shares, that investor owns 2 7, of the company.
20,000

= —/——=0.02=2%
1,000,000

*  Any investor who owns some percentage of the company is called a Slﬂl ehol /Og) K
*  Buying or selling stocks i is referred to as %afpr/ﬂ

« Stocks are traded ona stock exchaine.
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ays to milkc_nmncy by investing in stock:

e

4 : . ‘ avea capidal gain >
You s¢f| shares for more money than you paid for them, in which case you have d_"fL_’_’j——— )

on the sale of stock
While you own the stock, the company distributes all or part of its profits to shareholders as

®Reading Stock Tables

Daily newspapers and online services give current stock prices and other information about stocks.

52-week high refers 1o the {1}/flws {_ price at which a company traded during the past 52 weeks (/ T"é’“ )

52-week low refers 1o the Jowest _price at which a company traded LN en S0wecks
Stock refers to the company name.

SYM refers to the symbol the company uses for trading.

Div refers to ({; ¥ z@gn/{g paid@r share)to stockholders last year.
¥1d% stands for percent yield, = « ,1,maj feJ""”\

Vol100s stands for sales volume in 00 s for yesterday. /M ubt- X 160 )

Hi stands for the highest price at which the company’s stock traded _\f]ﬁ%_'
Lo stands for the lowest price at which the company’s stock traded yesterday.

Close stands for the price at which shares traded when the stock exchange closed yesterday.
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Net Chg stands for net change (from the close two days ago to the close t/ﬁ?f?rcOa /Jq ).
PE stands for the price-to-earnings ratio. ‘
. Yesterday's closing price per share
PE ratio = Y - gprey
Annual earnings per share
jesterday’s closing price per share
/?,‘»1:* uaﬂ earniqgs f‘” share - ——
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Example 5: Use the stock table for Disney to answer the follow ing questions:

& lll‘ﬂl % 'l/v",’('/ ({,/v:l =
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52-week \ [ ] { Net
High Low | Stock SYM Div Yid 'mp P Vol 100y Hi Lo } Close Chg
| e annua - ( : Choagt
‘ L{ ‘.J\(kf( ((h(”\ / ”ﬂj ‘ \ /J s ‘A l,r;flr
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( 42.38 22.50 / Disney DIS 2 6 43 115900 32.50 11.25 12.50
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a. What were the hipl and low prices for the past 52 weeks?
. 4 ‘
SrYa58 . S hsD pealan
b. Ifyou owmd 3000 shares of Disney stock last year, what dividend did you receive?
‘;/l /)u /‘A”l(,
J
Cy 3000 x(21)=[3(30
c. What is the annual return for d|V|dends alone? How does this compare to a bank account offering a 3. 5% refurd
interest rate? T7TA i / ',}'./,,/,,wv,” s lower [ o00¢ < .035 ;. A7 £ 357
; ‘-006» ”()T con also make #F ol stocks by ;,r-'/ Mg oW
- d. How many shares ofDnsncy were traded Xcslcrday V'l //()' : ':\1u,.:5 of oy J j o v
‘ f Salles (LoVLL) bz a  bertel
[(5960 x 160 ;/lﬁquOOO Shares (" AV estment )
e. What were the high and low prices for Disney shares yesterday?
e 2 &
<»'32,50 31,25,
per share Aer shar¢—
f. What was the price at which Disney shares traded when the stock exchange closed yesterday?
7 » R
3280
2. What does “...” in the net change column mean?
[
/\J 0 G«d-ﬁ(/
h. Compute Disney’s annual earnings per share using
==
: Yesterday's closing price per share 32.50 BRI
Annual earnings per share = Y o e i s, KPR 7
PE ratio 13 e Der T E
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